Residual versus local y

~~ . :
g — | ——m— st _physics_5067038_raw_1040001.eventFC_5465.root ss (0,12]
0,15 e
© — e s 5t_phiysics_5067038_raw_1040001.eventFC_5465.root ss (12,24]
S5 =
S =
7)) | e (Jmee  St_phiysics_5067038_raw_1040001.eventFC_5465.root ss (24,36]
)
m O. 1 _—- ..................... :
— | =—@m—— st physics 5067038 _raw_1040001.eventFC_5465.root ss (36,48]
0.05 _-:.-.-.-.-.-.-.-.-.-.-.s.-.-.-.-.-.-.-.-.-.-.:-.-.-.-.-.-.-.-.-.-.-.:-.-.-.-.-.-.-.-.-.-.-:.-.-.-.-.-.-.-.-.-.-.-:.-.-.-.-.-.-.-.-.-.-. ................
= s . :
- 8 3 :
— () :
C [ im0 0a . 2 ‘: €900 Go0 agq,
Of i R S % RUTE R — i NP %0 o, ..”sz‘ .....
- e .r'ﬁngp¢lbqn' &
- @ [ X ) :
B ' : : : .‘ : : :
-0.05 =i — L . o s -
_O 1 B I 1 1 1 I 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1

60 80 100 120 140 160 180

Fri Dec 3 12:08:24 2004 Local Y



